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: There are 12 1etters of whlch N appears 3 times,E appears 4
L t[mes and D appears 2 tlmes and the restare aH
_different Therefore the requwed number ofarrangements

| =121/31412)= 1663200 L

f(x) 3x+7 .
flx1)=f{x2)
3x1+7=3x2+7

X1=x2

' -Number of vertices=10
Sum.of degree of vertices ~6x10 60 -
. From theorem ,5um ofthe degree of vert;ces ZiEf

2/E{=60
[E] =60/2=30

Tree :Atree is a connected acyclic, graph .Thatisa connected
graph havmg no cycles.lts edges are called branches o
Spanning tree:A subgraph Hofa connected graph Gisa =~
spanning tree of G if H is a tree contammg every vertex of G

1.5
1.5

In pre-order traversal,first,root node visited,then left sub-




tree andafter that right sub tree v:s:ted The process of pre . 3
‘order traversal can be. represented as root%left—)nght
9 Seml group:The system (A,*)is sald to be. semi- group if it i
-satisﬁes the. followmg propert;es e 5
1.The operatton isa ciosed operat;on on set A 1.5
2.The operatton *is an assomatwe operation - ' '
_ ]monmd A monoid is a'set that is closed under an
“associative binary operatlon ‘and has an :dentlty element .
10
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I '
V. in(A)=28 KA
n{B)=32. : c
n(AUBES0 . 5
n(ANB)=?
n{ AUB) =n{A)+n(B)- n{ ANB)
n(ANB} =n(AHn{B)-n ( AUB
»«28+32 50 ‘10 o
v P q | -p pVq -{p¥q) t=(pYa)>-p || 7
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Vi p q_|-q p>q__ | ~{p=>q) | ~(p—>q)
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not a tree,it must contain a cy_cle_ Re_mov_e an edge from the
cycle.T_h_e new graph is still connected.If it is acyclic,then itis
a tree and hence a spanning tree.Otherwise it must have
another cycle,Remove an edge from this.
cycle.Continuethisprocedure until a subgraph H is acyclic.it is
a tree.it also contains every vertex of G. so it is a spanning
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© " ]laa=0isa multlple of3 f
| Ris reflexive - - - '
-1 Symmetric
. :aRb SOOI
a-b is amu]tlple of3
{h-aisa multiple of 3
bRa - L
Therefore Ris symmetrlc_
Transitive o
' aRbandbRc S : e
|abisa mult:pie of 3and b-cis amultiple of3
a- b+bc-aC|samu||ple of3
aRe _
Ris transntlve - _
) Equwalence Reiatlon :
“1Ris reflexwe symmetric and transmve Therefore Risan .
| equivalence relation”
- Vill. | The function f is one-to-one for f(xl) f(xz) :
R :2)(1 ~2x2 . U 1
L X1— Xz : - 5 -
| Also glven any real number y in R there emsts y/2 inR such o
:that f{y/z) 2 (y,)Hencefls onto - e
CVIX: | Let G= (V £) be an-undirected graph with n number of vertlces
Do and e number of edges. Let ViV vkbe the odd degree of -
.vertlces and vi,v;! ...'...vm' be the even degree of vert;ces By
Hand shakmg theorem we have 2|El 2e=Ti=1 to n d{v;)
| consider the vertices with odd degreeand even degree seperetely
Tdegi=1tok deg(vi)+ X j=1 tom deg(vih=2e
' }'.deg(v.) +even number=2e . —Zdeg(vi=2e-even number~even
X | First letus. conssder a smple graph Kn ‘with'n vertlces Ina:
IR complete graph every vertex is adjacent 1o every. other
- vertices so each vertex.is adjacent to remamed n-1-.
vertaces There are {n-1} edges incident on a vertex That is the -
: degree of a vertex isn-1 Therefore the total sum of the
: degree of a graph is n{n-1) .By Hand shaking theorem ;the
| sum of the degree of the vertices is twice the number of the
edges sum of the degree of the vertices. n(n 1)= 2e
| e= n(n 1 /2 Therefore maxamum edges ina comp!ete graph
isn(n-1)/2 - :
Xt lLetGbea connected graph !fG is atree we are donedf Gis




Sl tree ofG

X
UL ithat vertex Also every: edge is mmdent with exactly two ';. -
S vertuces each edges counted twice ,once at each end, Thus -
| the sum of the degree ofthe vertlces is equai to twice. the
' 'number of edges - :

:Smce degree of a vertex is the number of edges mCIdent With

X

A={1,-1,i-i} ;A is closed under muiuphcatlon -

- IfabcmA(ab)c—a(bc) |sassoc:ative e “lis

the |dent|ty element any ain Aali= 1. ama every elementin
A has its mverse a. b 1= b a. so A a_s a group u_nde__r '

: -multipilcation

XIV

_ _Set positive mtegers under addltson is closed.

If a,b,cinthe set {atb)+c= a+(b+c) ASSOC!atIVE propertv

-satlsfled Ois the identity elememt. a+0=0ta=a.every e!ement

has its inverse, a+{-a)=(- a)+a 0.50 set of mtegers under

'addltion is a group




Dedision 1aken by the JCTE Office on 01.01.2025 based on the _complaints_received
from the students of vavious Polytechnic Colleges in connection_with_the  Question

papers ol Diploma_txamination. November 2024 and _recommendations_of _expert

committee.

L.Subject Code :-3025

An ambiguity occured in
R (21) 3025 Part A Questions, ie answer | 15 marks each
any one of the questions
Machine Drawing instead of any two
Decision:-

* 1If the students have attended two questions , 1(1) or 1(2) and 1(3) or I(4) from Part A, then

value the two answers.

*1f the students have attended only one question from Part A,

(@) The marks secured will be considered as out of 60

(b) The Percentage of marks secured out of 60 shall be calculated and the same percentage

of marks out of 15 shall also be added to the marks secured to arrive at the actual marks

admissible out of 75.

2. Subject Code :-3341

R(21) 3341 Part A -6,7,8,9 1 Mark each
Discrete Mathematics Part B-6,7,8,10 3 Marks each
j Part C- IX,X,XI,XII 7 Marks each

Decision:-

* Questions 6,7,8 & 9 of Part A, 6,7,8 & 10 of Part B and IX,X,XI and XII of Part C are

cancelled.

Value the remaining questions.

* part B -Consider the marks of 4 highest scored questions out of remaining 6 questions.



* The marks secured will be considered as out of 45

the same percentage
* The percentage of marks secured out of 45 shall be calculated and ge of

ive at the actual mark
marks out of 30 shall also be added to the marks secured to arri S

admissible out of 75.

3. Subject Code :-3043

R(21) 3043 Part B -3,9 3 Marks each
Electronic Circuits
Decision:-
Part B

* Question No: 3 and 9 are cancelled

* Consider the marks of 6 highest scored questions out of remaining 8 questiqns

* Marks secured will be considered asrout of 69

* The percentage of marks secured out of 69 shall be calculated and the same percentage of
marks out of 6 shall also be added to the marks secured to arrive at the actual marks

admissible out of 75.
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